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[Q:3] D = e “sinya, —e *cosya, +4za, [C/m*]2 Aol Ha] FHEo] 1077 [m’]of] BRI & Aotk
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[Q.4] D = 4pz*sin’ pa, +2pz*sin? pay +4p>zsin’ pa [C/m?]Q] A P(p =2,¢ = 110°,z = —1)o| A divDE T
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S (papdZsint ) + -2 (2p2sin® )+ 5 (4p3zsin’ o)
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E 8pz”sin ¢+E 2pz%(2sin¢ - cos ) +4p? sin’ ¢
=877

sin” ¢ +4z% sin @ cos ¢ +4p? sin ¢

divD|, =8 x (—1)?sin® 110° +4 x (—1)*sin 110° cos 110° +4 x 2*sin* 110°

=7.0642 — 1.2856 + 14.128 = 19.907
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[Q.5] r=2,4,6 [m] 1 5A47-2] O] ZH7} 20 [nC/m?], —4 [nC/m?], 10 [nC/m*] 2 A =] o] St r=1,3,5 [m]
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[A5] SAHFo| DR BE Ado] Ao R W Aubrte] ALE7} A elo] s Mt 2 & 4 ek B

At A2 9 T ERL 7F9A HTHO T HH5HE DE 1T 4 gk
@ r <291 A$ YR W7t glong, r— 19 Ao D, = 00] Hek.

(b) r =36l o] r =291 FEH] Aot OBz,

80 x 1072

4r’D, = 4m x 22 x20x 1077 = D, = —— —[C/m 2]
D, _,= 8022109 =8.9[nC/m?|
(¢) r=S5° %= W7ol r=240]27]1°] FRHMSII}F }lo B =,
4rPD, =4 x 22 x20x 1072 447 x 4> x (=4 % 107°) = D, = M [C/m?]
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16 x 107?

Dr‘rzS = 52

= 6.4[nC/m?|



